Sarala Birla Academy-Holiday Homework-Grade 9- Clsm

Question 1: Balancethe following equations:

1. b+ O —— H,0
2. §+ O = S0

3. HgO = Hg+ O

4, Zn+ HC——= ZnCL+ H,

5. Na+ HO —== NaOH + H
6. QOH16+ CIZ —== C+ HCI
7
8
9

. SH; + G = Si0, + HO

. Fe+ Q@ —== FeO;

. GHeO, + O, = CO+ HO
10. FeS+ O = Fe0O;+ SQ
11. FeO; + H, = Fe + HO
12. K + B —== KBr
13. GH, + QG = CO, + HO

14. HO, —== H,O0 + Q

15. GHig + Q —== CO, + HO

16. SiQ + HF = SiF, + HO

17. KCIQ; —== KCI + O

18. KCIQ; —== KCIO, + KCI

19 F?;Olo + |'bo — H3PO4

20. Sb + @ —== ShO,

21. GHs + @ —= CO, + HO

22. FeO; + CO = Fe + CQ

23. PC} + HO ——== HCl + HPQO,

24. HS + C} —= S + HCI

25. Fe + O —= Fg0, + H

26. N + Hb —= NH;

27. N + Q@ —= N;,O

28. CQ + HO —= CHi:0s + O

29. SiC, + HO —= H,SIO, + HCI

30. PO, —== H,P,0O; + HO

31. CQ + NHf —= OC(NH,), + HO
33. Fe(SQy); + KOF—= K,SO, + Fe(OH)
34. SO, + HI —== H,S + } + HO
35. AI + FeC—== A|203 + Fe

36. NaCO; + HClI —= NaCl + HO + CQ
37. R + Q == P,Os

38. KO + HO —== KOH

39. Al + Q —_— AlgOg

40. NgO, + HO —== NaOH + Q

41. C + HO—= CO + H

42. HgASO4 —_— ASzo5 + I-bO

43. A(SQ);+ Ca(OH) —== AI(OH); + CaSQ
44. FeCf + NHOH ——== Fe(OH)} + NHCI
45. Cg(PO4) + 6 SIQ —= P,0,p + CaSiQ
46. NOs + HO ——=== HNO;

47. Al + HCl ——= AICl; + H

48. HgBO3 —_— H4BGO]_1 + F&O

49. Mg + N —= Mg\,

50. NaOH + Gl ——== NaCl +

51. L,O + HO ——== LIiOH

52. CaG + HO —= C,H, + Ca(OH)

53. Fe(OH) —= Fe0; + HO
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54. Pb(NQ), —== PbO + N@ + Q
55. BaO + KO ——== Ba(OH),
56. Ca + Al ——= CaCL + Al

57. N + NO = N, + HO
58. PG, = H;PO, + PH
59. FeO; + C = CO + Fe

60. FeS + © —= Fe(O; + SQ
61. N + Q@ —== NO + HO

62. Si + & = Si,$,

63. HCO; ——== Hg + HgO + C@
64. SiC + Gl = SiCl, + C

65. ALC; + HO = CH, + AI(OH)
66. \,Os + HCI = VOCl; + HO
67. AgS + KCN —== KAg(CN), + K,S
68. AuS; + H = Au + HS

69. CIg + HO ——= HCIO, + HCIQ
70. KOb + CQ —= K,CO; + Q
71. MgNH,PO, = Mg,P,0; + NH + HO
72. MNQ + HCl ——= MnCl, + HO + C}
73 Pb + Na + ﬁ5CI —— Pb(C2H5)4 + NaCI
74. Ca(OH) + HPO, ——== CaHPQ + HO
75. Zn + NaOH + @ —= NazZn(OH), + H
76. SrBp + (NH),CO; —== SrCG; + NHBr
77. Hg(OH) + HPO, == Hgs(POy), + HO
78. Ca(PQ), + SiQ + C —== CaSiQ + B + CO
79. WOy —== 1.0 + L + O
(this equation can be balanced with various seteefficients)
80. GHCl + Q —/8== CO, + HO + HCI
81. (NH).Cr,0; —== NH; + HO + CpO; + Q
82. Al + NaOH + LD —== NaAl(lOH); + H
83.NH,Cl + Ca(OH) —== CaClL + NH3 + HO
84. Al + NHCIO, —= Al,0; + AIC;, + NO + HO
85.HSO, + NaHCQ@ — NaSO, + CQ + HO
86. CQOFQ(PO4)6 + |'b804 —_— Ca(HzF)O4)2 + CaSQ + HF
87.Ca(PQ), + HSO, —== CaSQ + Ca(HPQ),
88. kPO, + (NH).MoO,; + HNG —= (NHg)s;PQ,  12MoG; + NHNO; + HO
89.CH,y + CL + O —== CO, + CC} + HO
90.GH N + @Q —= CO, + HO + NQ
91. PO, + HCI = PCk+ HO
92. HCI + KCO; —== KCI + HO + CQ
93. Ca(lClQ, —== CaCL + O
94, GHsOH + Q@ —== CO + HO
95. Xe + F —= Xek;
97. AuO; —= Au + O
98. GHyp + G —= CO, + HO
99. FgO, + b —= Fe + HO
100 Q —== O;
101. b + HNQ ——== HIO; + NOQ + H
102. GHs + @ —== CO, + HO
103. GHsOH + Q@ —= CO, + HO
104 HClQ + F?;Olo —_— H3PO4 + CEO7
105. BaC}] + Al(SQ); —== BaSQ + AICkL
106. (NH;)2C|'207 —==CrnO; + N + HO
107. NaHC@Q ——== NaCO; + CQ + HO
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108. Fe2(@,); —== FeGO, + CQ
109. CaP, + HO —= Ca(OH) + PH

110. As + NaOH—== NaAsO; + H,

111. KFe(CN) + KMnO, + H,SO; —== KHSO, + F&(SO); + MnSQ, + HNO; + CQ, +H,0

Question 2: givethe formula of thefollowing compound without using the help of the book

(1) sodium nitrite (16) magnesium oxide
(2) copper (Il)oxide (17) potassium sulphate
(3) sodium iodide (18) magnesium nitride
(4) sulfur dioxide (19) sodium nitrate

(5) hydrogen sulfide (20) carbon tetrachloride
(6) magnesium phosphate (21) potassium sulphite
(7) potassium hydrogen carbonate (22) calcium ador

(8) iron(lll) chloride (23) sodium sulphide

(9) sulphur trioxide (24) sodium iodate

(20) iron(ll) sulphide (25) iron (lll) oxide

(11) magnesium hydroxide (26) magnesium nitrate
(12) sodium bisulphate (27) sodium sulphate
(13) potassium carbonate (28) ammonium hydroxide
(14) carbon monoxide (29) iron(ll) sulphate
(15) magnesium hydride (30) carbon dioxide
Question 3: namethe following chemical

FeS MgO KSQ,

CaCb NH,OH Mg(NG),

CO, NaNG; Mgs(POy)2

NaSO, Nal0; Mg(OH),

FeCk CO NaHSQ

Nal KHCG; FeO;

Cu0 FeSQ MggNz

K,S0 NaNQ, SG

NaS CCl K,CGO,

MgH. SG H,S
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